AP Culeulus AB FTC - Favt 2-

X, . r ; X
) y=J (sin*tdt 2 F)= [ (3¢ +os 1)
i 2
| dy = sin%x ‘ Fl(¥)= 3x +Cos x*
clx
6 7
2) 409 :j,eu(/ ++3dt DFlx)= [ J2ttrt el dt
4 X
90 ~ L1 4x?) Fl)= —\zxtsxt]
5 eost _peesk,
? Y= J;:; t¥+2 o ¢ y ~".£!Tn)r.£ ot
_z?(_x -n Cos k> _3x* y'-‘ (@sx)?:[—ﬂnk)—‘(%k)zc.’o.sx
X Xé 42

7 al)= [ DAt 5 (et =-2
jiod = £t e =FfE) =0
JeI= £ gey=rly=3

-

) 9(x)=2x +J:1C(4:)di' 900> 2 £

363)= -6 + | Freur §'(-3) = 2 +£(-3)
b - (%) i

= P
_é_%_ﬁ

b 4
. v 1) glx)=J, (Dt
0 §00= 5+ [, 3 (Vdx 5(u)= 1, POt
2)9'(0)=2 b)gte)=o =2
50 = £(x)
9(4)=f4) =0

§(%) = £ x)
9¢ly) = £ () =-2



| 1) ,&,._ J—CosXx

= 2
X200 25in*X o
l/[_sﬁ#j L'HOP:.",'AJB Pule
N s X
X2o
Hsinx Cosx

JF / .
X2° 4 ppsx va

_ 2x+3
f2) Y° 3=
7' = (B3x-2)(2) - (2x+3)[3)
(3x-2)*
AL OUD—(S)3)
Vhy D

Tangeut : y..gr-ls(x~r)



